
1. Please do Question 1 which is displayed on the screen in class. (Short Answer)
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Results by Question

Responses

Percent Count

B 45.45% 50

A ( c ) 35.45% 39

C 16.36% 18

2 0.91%

A,B,C 0.91%

B
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0.91%

Totals 100% 110
Keyword(s): A

Keyword Matches: 39



2. Please do Question 2 which is displayed on the screen in class. (Short Answer)

Responses

Percent Count

O(N) 11.82% 13

2^N 8.18% 9

N 6.36% 7

O(NM) 5.45% 6

N^M 4.55% 5

NLOGM 4.55% 5



O(2^N) 4.55% 5

O(N*M) 4.55% 5

MLOGN 2.73% 3

N LOG M 2.73% 3

N^2 2.73% 3

NM 2.73% 3

O(N^2) 2.73% 3

O(NLOG(M)) 2.73% 3

O(NLOGM) 2.73% 3

4^N 1.82% 2

LOG(N) 1.82% 2

O(LOG N) 1.82% 2

O(MLOGN) 1.82% 2

0(N) 0.91% 1

LOGN 0.91% 1

M 0.91% 1

M LOG N 0.91% 1

M! 0.91% 1

M*N 0.91% 1

MLOG(N) 0.91% 1

MN 0.91% 1

N * 2^M 0.91% 1

N CHOOSE M 0.91% 1

N! 0.91% 1

N(LOGM) 0.91% 1

N*M 0.91% 1

O N ^ M 0.91% 1

O(1) 0.91% 1

O(2^M) 0.91% 1

O(M) 0.91% 1

O(M^N) 0.91% 1



O(MLOG(N)) 0.91% 1

O(N LOG M) 0.91% 1

O(N!) 0.91% 1

O(N!/(N-M)!)
YEAH.., THIS
ISN’T RIGHT

0.91% 1

O(N)? 

🤒

0.91% 1

O(N-M) 0.91% 1

O(N/M) 0.91% 1

O(N^M) 0.91% 1

Totals 100% 110

Keyword(s): O(4^m);4^m;exp(4,m)

Keyword
Matches:

0




